PΙ	A	NT	$\mathbf{F}\mathbf{N}'$	FFR	PR	PICEC	PRO	DII	CTION	
			1717	יועו ו		כועוכוו	1111	יטעי		

Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
FORESTRY						
Pulpwood						
Pine				153,542	cords	
Hardwood				35,181		
Pulpwood (Total)				188,723		
Chip & Saw				,	cords	
Saw Timber				,		
Pine				57,270,213	board feet	
Hardwood					board feet	
Saw Timber (Total)				59,923,113		
Total Pulpwood, Chip & Saw Saw Timber FOB Mill	,					\$42,150,445
Total Forestry Stumpage						\$24,739,459
Christmas Trees	*			1,000	trees	\$40,000
Pine Straw	*			,	bales (40 lbs.)	\$1,600
Forestry Seedlings	*	15.0	493,333.00	7,399,995	` '	\$259,000
Forestry (Total) FRUITS		15.0			())	\$42,451,045
Peaches	*	110.0	150.00	16,500	bu.	\$495,000
Fruits (Total)		110.0				\$495,000
FEED GRAINS		110.0				4 13 0,000
Corn	7	68.0	60.00	4,080	bu.	\$9,343
Feed Grains (Total)		68.0		,		\$9,343
HAY FOR SALE						. ,
Grass	6	775.0	3.10	2,402	tons	\$120,100
Hay for Sale (Total)		775.0		,		\$120,100
HOME GARDENS	1,775	.				\$532,500
						Page 1 of 5

PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
RICE	57	17,190.0	53.00	911,070	cwt.	\$5,056,439
SOYBEANS	13	2,444.0	30.00	73,320	bu.	\$487,578
VEGETABLES						
Cantaloupe	6	2.0	170.00	340	cartons (40	\$5,100
					lbs.)	
Mustard (Fresh)	12	7.0	540.00	3,780	doz. bunches	\$26,460
Okra (Fresh)	14	20.0	150.00	3,000	bu.	\$60,000
Shallots	*	5.0	1,200.00	6,000	doz. bunches	\$30,000
Snap Beans (Fresh)	6	20.0	120.00	2,400	bu. (30 lbs.)	\$48,000
Southern Peas (Fresh)	20	20.0	85.00	1,700	bu. (24 lbs.)	\$34,000
Squash (Fresh)						
Yellow Squash	*	12.0	135.00	1,620	bu. (45 lbs.)	\$19,440
Zucchini Squash	*	10.0	150.00	1,500	bu. (45 lbs.)	\$15,000
Squash (Fresh) (Total)		22.0				\$34,440
Sweet Corn (Fresh)	23	3.0	538.00	1,614	doz. ears	\$4,842
Tomatoes (Field)	6	15.0	850.00	12,750	lugs (20 lbs.)	\$191,250
Watermelon	10	17.0	170.00	2,890	cwt.	\$17,340
Vegetables (Total)		131.0				\$451,432
TOTAL ALL PLANT ENT	ERPRISES					\$49,603,437

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
AQUACULTURE Crawfish (Farm) Aquaculture (Total)	18	988 Acres in Prod.	741,000	lbs.	\$481,650 \$481,650
FUR ANIMALS			486	pelts	\$2,576

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
ALLIGATORS (WILD)			15	ft.	\$330
HUNTING LEASES	1,125	275,000 No. Acres		acre	\$962,500
		Leased			
TOTAL ALL FISHERIES	& WILDLIFE ENTERPRISE	ES			\$1,447,056

ANIMAL ENTERPRISES PRODUCTION

	Number of	Units of	Total	Units of	Gross Farm
Animal	Producers	Production	Production	Measure	Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			1,140	head	\$414,242
400-500 lbs.			1,140	head	\$476,526
500-600 lbs.			570	head	\$261,898
600-700 lbs.			423	head	\$219,960
Steer Calves (Total)					\$1,372,625
Heifer Calves					
300-400 lbs.			1,005	head	\$321,711
400-500 lbs.			843	head	\$317,781
500-600 lbs.			213	head	\$90,721
600-700 lbs.			217	head	\$105,788
Heifer Calves (Total)					\$836,001
Yearling Cattle					
600-700 lbs.			423	head	\$219,960
700-800 lbs.			422	head	\$237,375
Yearling Cattle (Total)					\$457,335
Cow-Calf Pairs			85	pair	\$61,200
Cull Cows				head	\$464,627

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES						
Cull Bulls				268	head	\$195,774
Cattle & Calves (Total)	180	7,586	No. Cows			\$3,387,561
HORSES						
Brood Mares						
Recreation Horses	60	100	No. Brood Mares	50	head	\$75,000
Brood Mares (Total)						\$75,000
Show Horses	8				head	\$76,000
Recreation Horses	75			140	head	\$140,000
Horses (Total)						\$291,000
POULTRY						
Edible Eggs	300		No. Hens	4,000	doz. eggs sold	\$3,360
Poultry (Total)						\$3,360
SHEEP						
Wool		400	No. Sheared	3,200		\$512
Slaughter Lambs					head	\$29,438
Feeder Lambs					head	\$12,900
Show Lambs					head	\$9,625
Stocker Sheep					head	\$2,138
Cull Sheep				70	head	\$2,450
Sheep (Total)	20	450	No.Breeding			\$57,062
0.0 1.00			Ewes			
GOATS						
Show Goats					head	\$1,500
Slaughter Goats					head	\$19,125
Stocker Goats					head	\$2,275
Cull Goats				30	head	\$1,260
Goats (Total)	14	300	No. Does			\$24,160

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
SWINE					_
Show Pigs			50	head	\$15,000
Feeder Pigs			100	head	\$1,800
Slaughter Hogs			150	head	\$18,525
Culls			50	head	\$5,500
Swine (Total)	9	70 No. Sows			\$40,825
TOTAL ALL ANIMA	L ENTERPRISES				\$3,803,968
ALLEN PARISH T	OTAL		_		\$54,854,461